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Be ahead of time. Reach the skies. SAMPLE QUESTION PAPER

SCIENCE
1 [The passengers sitting in a flying aeroplane are in with respect to clouds, but
are in with respect to the interior of the aeroplane.

a) rest, motion

b) rest, rest

c) motion, rest

d) motion, motion

2 |In increasing magnitude which of the following is correct?
a) m, cm, km, mm

b) mm, cm, m, km

c) cm, mm, m, km

d) mm, m, cm, km

3 ———— isaplace where the earthworm is reared in school premises
a) compost pit

b) solid waste

c) dust bin

d) liquid waste

4 The only material that can be recycled to 100% is
a) paper

b) glass

c) plastic

d) cement

5 |Which mosquito bites people during the day?

a) culex

b) aedes

c) male anopheles

d) female anopheles

LOGICAL DEVELOPMENT

6 What will be the next term: BDF, CFI, DHL,?
(@)CIM (b) EIM (c) EJO (d) EMI
7 |If book is called watch, watch is called, bag, bag is called dictionary and dictionary is
called window, which is used to carry the books?
(@) Dictionary  (b) Bag (c) Book (d) Watch




MATHS

In a movie hall, 435 seats are vacant and 1342 seats are occupied. What is the seating
capacity of the hall?

a. 907

b. 1777

c. 1778

d. 1787

Out of these, which is an obtuse angle?

11 .
a. — ofarightangle.

1 g g

11 .
b. o1 of a complete rotation
C. 2% of a complete rotation

8 )
d. — of aright angle.
20 g g

10

A milk man buys milk contained in 10 vessels of equal size. If he sells his milk at Rs. 5
a litre, he loses Rs. 200; if he sells it at Rs. 6 a litre, he would gain Rs. 150 on the
whole. The number of litres contained in each vessel is:

(@) 20 litres (b) 30 litres

(c) 25 litres (d) 35 litres




